
10

+10

+

(Friendly Numbers)

14 - 6 =

14 - 4 = 10



10 - 2 = 8

6 + 4 = 10      10 + 4 = 14  

14   +   23  =14 + 23 =

18 19 20

 Think about how 8 + 4 can be thought of as
 10 + 2 instead. 

8

Addition: Making a Ten

4

2 2

10 + 2 = 12

+

A friendly number is a number that is easy to
work with.  For example, multiples of 10 are

"friendly" because they are easier to 
add or subtract. 

I can combine 8 and 2 to

make a 10. This makes it
easier to add.

Addition: Base Ten

14    +     23   =

20+ 4 3+

30 7

14 + 23 = 37

I start with 1 ten
and 4 ones.

Then I add 2 tens 
and 3 ones.

I can combine
 my tens. I can combine

 my ones.

Addition: Number Line

14 15 16 17 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37

+10 +3

23 24 25 3426 27 28 29 30 31 32 33 35 36 37

+10 +4

I can start at 14

and jump 2 tens

and 3 ones to 37.

I can also start at 23

and jump 1 ten

    and 4 ones to 37.

I can then jump

 3 ones to 37.

I can start at 14 and

jump 2 rows of 10

 for a total of 20

Addition: Hundred's Chart

20 3
 (3 ones)  (2 tens) 

Addition: Partial Sums

14  +  23  =

10 4 20 3

I can break apart both addends
 by place value

I can break apart one addend
 by place value

10 + 20 = 30

4 + 3 = 7

30 + 7 = 37

14  +  23  =

20 3

14 + 20 = 34

34 + 3 = 37

20 3

10 4

14   +   23  =

14

I can combine 23 and

7 to make a friendly

number of 30.
7 7

23

7 + 30 = 37

I notice 14 can be
 broken into a double.

We can use ten frames to
model the problem.

14     +     23   =

 (2 tens)  (3 ones) 

 (1 ten)  (4 ones) 

+

+

+

Subtraction: Making a Ten

(Friendly Numbers)

4 2

Take away 4Take away 2

I can think of 6as 2 + 4.

By taking away 4
from 14 I can
make a ten.

Now I can take away 

the remaining 2 

from 10.

Counting Up

14 - 6 = __ is the same as 6 + __ = 14

I can start with 6

and think how many

more to 10.

How many more

from 10 to 14.

(think addition)

So  6 + 8 = 14 and 14 - 8 = 6



Subtraction: Number Line

70 - 40 =

Counting Back
I can start at 70

and count back
by tens 

40 50 60 7030

-10 -10 -10 -10

50

I can add up the

jumps of ten to

 find the difference

between 40 and 70.

706040

+10 +10 +10

I can start at 40

and count up 

to 70.

Counting Up
(think addition)

= 30

Grade 1
Models and Strategies

Addition
Subtraction

This brochure highlights some of the
models and strategies used to

develop computational fluency
through a deep understanding of
place value, number sense, and

properties of operations.



By learning multiple strategies,
students think flexibly, make

connections, and choose the most
effective and efficient strategy for

problem solving.

Subtraction: Base Ten

70 - 40 =
I start with 

 7 tens

I need to
 take away 4 tens 




This leaves me
with 3 tens 70 - 40 = 30

70 - 40 =
By thinking of subtraction as addition, I can count up to

 find the difference between two numbers.

Counting Up 

40 + ____ = 70

I can start at 40 and 

count up to 70.

The difference between

40 and 70 can be found by

counting the total jumps. 
3 jumps of ten = 30

70 - 40 =

Subtraction: Hundreds Chart

I can start at 70 and

jump back 4 rows of 10

 for a total of 40.

Counting Back 


